2013 &<bdJ)L7aUR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
Bl == BA 45 44 89 19.2 69.8 O
HER BN BB 51 48 99 28.8 70.2 @)

3 |HE B 38 40 78 7.2 70.8 O

4 |BER FRE 45 56 101 30.0 71.0 O

5 |FEH E— 43 43 86 14.4 71.6 @)

6 |BEk 49 42 91 19.2 718 O

7 |KH & 47 44 91 19.2 718 O

8 |[FEB EZ 48 42 920 18.0 72.0 O

9 |EL %FBH 51 44 95 22.8 72.2 @)
10 |FRIE &EE 46 43 89 16.8 72.2 O
1 | E=TF 48 47 95 22.8 72.2

12 |&EX & 39 37 76 3.6 72.4

13 |[RE B 48 45 93 20.4 72.6

14 A% & 45 48 93 20.4 72.6

15 |lR Hif 44 49 93 20.4 72.6

16 |EH = 49 50 99 26.4 72.6

17 |E% @k 47 46 93 20.4 72.6

18 | F#E Fns 46 52 98 25.2 72.8

19 |[ME #Xx 52 51 103 30.0 73.0

20 |@R[E 56 47 103 30.0 73.0 O
21 | Eif 49 48 97 24.0 73.0

22 |[fFIR HFRK 38 41 79 6.0 73.0

23 |H/0 8§ 46 45 91 18.0 73.0

24 |k TR 43 41 84 10.8 73.2

25 |MRZE FERER 47 43 90 16.8 73.2

26 |fiK BX 53 54 107 33.6 73.4

27 |EXR 8 46 43 89 15.6 73.4

28 |4t JKE 44 39 83 9.6 73.4

29 (Rl #E=E 48 47 95 21.6 73.4

30 |Jlm & 51 44 95 21.6 73.4 O
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2013 &<bdJ)L7aUR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
31 |F =t 46 55 101 276 734
32 |mniE B/iEF 41 48 89 15.6 73.4
3B |EE BRXR 48 40 88 14.4 73.6
34 |PAER #EER 51 49 100 26.4 73.6
35 |luO Bse 59 53 112 38.4 73.6
36 |ATRE FHE 50 49 99 25.2 73.8
37 |#BF B 48 45 93 19.2 73.8
38 |HE EA 48 45 93 19.2 73.8
39 |#&EH EE 46 41 87 13.2 73.8
40 |=H {EBA 53 46 99 252 73.8
41 |BAR EHIT 49 44 93 19.2 73.8
42 [RF = 51 47 98 24.0 74.0
43 |HE Ktk 43 49 92 18.0 74.0
44  |tkEE RR 45 46 91 16.8 74.2
45 [+l BEA 51 52 103 28.8 74.2
46 | Bz 50 41 91 16.8 74.2
47 | —iR 45 46 91 16.8 74.2
48 |FafE] FFER 48 54 102 27.6 74.4
49 |IUHE IE 45 45 90 15.6 74.4
50 |WMR BE 52 50 102 27.6 74.4
51 |[fFIR Al 45 45 90 15.6 74.4
52 | K& E2Z 48 42 90 15.6 74.4
53 |FEH FX 47 43 90 15.6 74.4
54  [FA[ER =ER 54 48 102 27.6 74.4
55 |2FF A 47 43 90 15.6 74.4
56 |#xH =B 51 56 107 32.4 74.6
57 |#&H 1388 51 44 95 20.4 74.6
58 |HAHA & 49 46 95 20.4 74.6
59 |#FxIT Ml 50 50 100 252 74.8
60 |HEX & 51 49 100 25.2 74.8
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2013 &<bdJ)L7aUR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
61 (R HRE 43 39 82 7.2 748
62 |I|E FEIZ 54 51 105 30.0 75.0
63 |MNEE FNiF 43 44 87 12.0 75.0
64 |BF EXE 50 49 99 24.0 75.0
65 |f8 IEX 47 46 93 18.0 75.0
66 |#niL EH#E 50 49 99 240 75.0
67 |&=H FE 45 41 86 10.8 75.2
68 |FFH FIF0 46 40 86 10.8 75.2
69 |FEAT Bl 48 38 86 108 75.2
70 |IE@ =8 50 42 92 16.8 75.2
71 |¥E FE 46 46 92 16.8 75.2
72 |EBE Hih 48 50 98 228 75.2
73 BT —4F 52 46 98 22.8 75.2
74 |HA FT— 44 41 85 9.6 75.4
75 |H KR 51 52 103 27.6 75.4
76 [EA HE 44 47 91 15.6 75.4
77 (WUEE FE 48 55 103 27.6 75.4
8 |R1E FE 54 49 103 27.6 75.4
79 |fRll fEF 49 48 97 21.6 75.4
80 |HFAX HETF 49 41 90 14.4 75.6
81 |ZE BEX 49 47 96 20.4 75.6
82 |iBE #H_ER 50 46 96 20.4 75.6
83 |f& fFZ 53 49 102 26.4 75.6
84 & BE 53 54 107 31.2 75.8
85 |BE &M 49 46 95 19.2 75.8
86 |AK¥ HEZE 47 42 89 13.2 75.8
87 |hF E— 47 42 89 13.2 75.8
88 |2 FHiE 53 54 107 31.2 75.8
89 |MEE &% 47 54 101 25.2 75.8
90 |HEH —Xk 40 42 82 6.0 76.0
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2013 E<pdJ)L7arR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
91 [JBif FB 54 46 100 24.0 76.0
92 |HFA #H— 46 42 88 12.0 76.0
93 |KH & 48 46 94 18.0 76.0
94 |l 51 55 106 30.0 76.0
9%5 |BF £=E 49 51 100 24.0 76.0
9% |Kiz Mz 46 42 88 12.0 76.0
97 |#BET EA 56 50 106 30.0 76.0
98 |&RE F— 47 40 87 10.8 76.2
99 |[GAR EX 52 47 99 22.8 76.2
100 |MNiE BR 48 51 99 22.8 76.2
101 |[=ZK E 54 51 105 28.8 76.2
102 |KHE #Hi— 57 48 105 28.8 76.2
103 [BRIR FF 50 49 99 22.8 76.2
104 ([EH #EZ 61 50 111 348 76.2
105 |ER IE— 58 46 104 27.6 76.4
106 |[Fl EE 46 46 92 15.6 76.4
107 |HFK ES 48 50 98 216 76.4
108 |HKHE & 51 53 104 27.6 76.4
109 |I[RE EZ 44 48 92 15.6 76.4
1o (=8 & 49 42 91 14.4 76.6
1M1 |FAE B 46 45 91 14.4 76.6
112 |fIER 848 50 53 103 26.4 76.6
113 |EBA &Rt 47 50 97 20.4 76.6
114 |HA FOF 52 51 103 26.4 76.6
115 |hig & 48 43 91 14.4 76.6
116 |FaF E7] 48 49 97 20.4 76.6
117 |XZE KR— 45 40 85 8.4 76.6
118 [/NA i 53 49 102 25.2 76.8
119 |BAR B2 58 56 114 37.2 76.8
120 |TL£ 2 45 45 90 13.2 76.8
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2013 E<pdJ)L7arR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
121 (A #%A 47 49 96 19.2 76.8
122 |=[R #70 44 40 84 7.2 76.8
123 |AIU EE 55 53 108 31.2 76.8
124 |8 E3h 60 60 120 432 76.8
125 |t B 54 53 107 30.0 77.0
126 |3 [&F 51 56 107 30.0 77.0
127 FERR & 43 45 88 10.8 77.2
128 |X5 #Z 53 53 106 28.8 77.2
129 |EH BE— 50 49 99 216 77.4
130 | KR#F 174 53 52 105 27.6 77.4
131 |1EH =538 56 49 105 27.6 77.4
132 |&N R0 52 47 99 216 77.4
133 |JIi3 &z 54 57 111 33.6 77.4
134 (&8H# BR 49 49 98 20.4 77.6
135 3Ok ik 48 50 98 20.4 77.6
136 |f%H E5 50 48 98 20.4 77.6
137 |BFE & 53 49 102 24.0 78.0
138 |[A) & 54 48 102 24.0 78.0
139 [/t 1E 57 57 114 36.0 78.0
140 [T B3R 52 44 96 18.0 78.0
141 |ER %= 45 51 96 18.0 78.0
142 |AK BiE 55 53 108 30.0 78.0
143 |#£X EF 44 45 89 10.8 78.2
144 |ZH & 43 46 89 10.8 78.2
145 |[#E Xk 51 50 101 22.8 78.2
146 |EH HRI 49 52 101 22.8 78.2
147 |Z£2H BZ 60 53 113 34.8 78.2
148 |4%H B4 52 55 107 28.8 78.2
149 [JIN EF 48 53 101 22.8 78.2
150 |58 BT 52 55 107 28.8 78.2
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2013 &<bdJ)L7aUR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

B 6| K £ Tk 4 > | =% | HDCP =SS )
151 [BE =N 42 53 95 16.8 78.2
152 [+ ¥ 54 58 112 336 78.4
153 [db#A 1E5A 48 46 94 15.6 78.4
154 [ER BEIT 46 48 94 15.6 78.4
155 |[#8K Z:3h 46 48 94 15.6 78.4
156 [;Z) &R 53 53 106 27.6 78.4
157 |/h#k (= 47 41 88 9.6 78.4
158 |¥AH BEX 50 55 105 26.4 78.6
159 |FAE MBE 55 49 104 25.2 78.8
160 |#R$E FHA 51 41 92 13.2 78.8
161 |2 BF= 49 49 98 19.2 78.8
162 [t ZHi#E 57 59 116 37.2 78.8
163 [RIJI #F 54 49 103 24.0 79.0
164 |JILN FZ 52 50 102 22.8 79.2
165 |fER 1= 47 43 90 10.8 79.2
166 |JEE /X 61 52 113 33.6 79.4
167 |fEME 5 51 56 107 27.6 79.4
168 |EH & 51 43 94 14.4 79.6
169 [ZEF £A| 53 47 100 20.4 79.6
170 |X% HBiEF 52 54 106 26.4 79.6
171 | K#E EHE 57 55 112 324 79.6
172 |MHE FX 56 48 104 24.0 80.0
173 | Tk EE 47 57 104 240 80.0
174 |BE &X 47 51 98 18.0 80.0
175 |[RE EF 49 49 98 18.0 80.0
176 |{EB& xR 48 50 98 18.0 80.0
177 |E& BE 64 51 115 34.8 80.2
178 [/NEE #iE 53 49 102 216 80.4
179 BB 53 49 102 21.6 80.4
180 |EA @@= 54 48 102 216 80.4
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2013 &KpdJ)L272auR

B 4RA18(H) ~ 4A128(%) %78 (A)ZK<

B 6| K £ Tk 4 > | =% | HDCP =SS )
181 |He &k 59 65 124 43.2 80.8
182 |fkE #E 58 60 118 37.2 80.8
183 |/MNEIR 8k 48 51 99 18.0 81.0
184 |FIL i 54 45 99 18.0 81.0
185 |f2h 5h 53 51 104 22.8 81.2
186 |HEA XZ= 58 58 116 34.8 81.2
187 |ER # 60 50 110 28.8 81.2
188 |RE Mz 57 59 116 34.8 81.2
189 | KPE #8H 55 54 109 27.6 81.4
190 |[d)Il JE=Z 49 48 97 15.6 81.4
191 |8 EH 53 49 102 20.4 81.6
192 |EHA &= 55 53 108 26.4 81.6
193 [(EO #{— 55 53 108 26.4 81.6
194 |+3m] {25 50 45 95 132 8158
195 (KA ZE2 58 54 112 30.0 82.0
196 |Hmh FO#E 59 53 112 30.0 82.0
197 | &= 51 55 106 24.0 82.0
198 (ANl FE 58 54 112 30.0 82.0
199 |EHH KA 53 52 105 22.8 82.2
200 |=H SEER 56 55 111 28.8 82.2
201 |hNiE BE— 53 57 110 27.6 82.4
202 |#% I1EEH 63 65 128 45.6 82.4
203 |H L 55 54 109 26.4 82.6
204 |ZgHh i 51 57 108 25.2 82.8
205 |Ek 1# 61 57 118 348 83.2
206 o[ = 66 58 124 40.8 83.2
207 [iH EHaA 48 57 105 21.6 83.4
208 |KIE Kk 50 49 99 15.6 83.4
209 (FAIER EXER 67 61 128 44.4 83.6
210 |FK EZE 55 52 107 22.8 84.2
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2013 E<pdJ)L7arR
B 4A18R) ~ 4A128(&) X7 (E) %K<,

g 6| K % Tk 4 > | =% | HDCP ok | A E
211 | EE #WE 61 57 118 33.6 84.4

212 |tkF HBif 60 58 118 33.6 84.4

213 |Fg {&A8 60 55 115 30.0 85.0

214 |E|/ SHEE 51 64 115 30.0 85.0

215 | K& 5B 71 56 127 40.8 86.2

216 |FAH #H= 69 63 132 45.6 86.4

217 (AN E&E 66 58 124 37.2 86.8

218 |BX & 59 58 117 30.0 87.0

219 |IRE HH 61 66 127 39.6 87.4

220 |[hOft = 64 72 136 48.0 88.0

221 (UK 1& 66 63 129 40.8 88.2

222 |l EHRF 62 75 137 46.8 90.2

223 (= ER 72 67 139 46.8 92.2

224 [HT =2 65 65 130 37.2 92.8

BBHE [/NE BAE 62 70 132 32.4 99.6 O
BME |#Eft 1ERXR 78 78 156 54.0 102.0 @)
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